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Introduction 

�' 
1���22/����-0������6�����6����-��-�&�����������-�-1����%
�/�&�/0����-1���������

��� -1�� ��2�-$� (1���� 7������� ��22��-0� ��� -1�� ���-��� ��-����� 
����� ��2��&������

������8�-���� 9:��
��;<0�  ����� ��� ������/�60� �����/0� ��/��� ��� �22/���-���� "�-1� -1��

���-��� ��-����� ���2�-�� 
�� ���/� 9:���
4-1�� 
�� ���/;<� �������� �� -�� ���-��-� -1��

���������-���62�������1�6��������2/����$�6�������������6����/0���������������"�-1��-����

��/���='59�<9�><'1 

Facts�

5' ���5?������5=5=0�-1��������������-����/��&�����1-����&�����9:����;<������&���

�� ��2��-����2���� /������-�����-��$�������-� �62/���-�����-����6�6 �����-���
������

������/�6'� �&������� �� 6�--��� ��� ��22��-� ��� -1�� ��2��-� ���/����� �� &����%�/�2� 9:-1��

�/�2;<��1�"����-"��6�/������&����/����������6�/������&����/����&����-1����1��� ��$�

�-���-�������/���/$�6��#������-�����-�����&�1��/�'�
1��6�/������&����/���������-1�� ��#�

���-�����-1����6�/��"�����//����/$������������������-��������>��/���-�������-1��&�1��/��

"������&����/������1��&�/$�-������#����-���-'2
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' �$���/�--�����-����5������-�5=5�0�-1�������-��-������-��$%*�����/0�����������

+�6��� ���������� 9:��*4�+�;<0� �1������ -1�� �22/����-� "�-1� 6��������-'7� 
1��

�22/����-�"����//�"�����2�������������6��-1�-��2��&������66��-��-��-1���1�����'8
1��

�22/����-��� 6�--���1�����66��-����������-� ���5=5�'9�

D' 
1�����-��-������������"������&�$���-��-1���22/����-� $���/�--�����-�������2��/�

5=55'10�

E' ���������� -1�� ���-��/�  ��#������� ��� -1�� ���-��-��� ��������0� -1����*4�+��

������-���-1�-� ��������-1��6�6������6�����//���-����0�-1���22/����-�1��F��

�' ���5��7�$�5=5=0�"1�/����������-�����-�����&�1��/���/���/$�&��� /�����6���2� /���

�-���-����
�/��&�&0������/0�1�/������6�/������&����/��/���/$�-��1��� ��$�"1�/���1��

"������-������1���/�2��������1�6������$��-�����������>��//$�������-�&��6�����'�


1���� �&��-�� "���� ��2-����� ��� ��� �E%������� &����%�/�20� "1��1� "��� "���/$�

�����6���-��0� ��������-1��������8�-������-�������2�-�G�����

 ' ��-"���������5=5=�����7���1�5=5�0�-1���22/����-����/���-�����2���-��"�-1�-1��

�������&��-���-������-��1���������-0� $F�

�' ���������-��2��&���������"�-1�-1�����-��-���-��/�������6�-����/�"�-����G�����

��' ��/�-���� ��-�� ���6� �� 6� �/�� 21���� "1��1� 1�� 1��� �� 6�--��� -�� -1��

��&��-���-��������� 6�--����-�����������������-�6� �/��21�������6�-1�-������

���5��7�$�5=5=����4�����/�-������-�� ���6������-�����-����� ���������7�

����0�"1��1�1��1����� 6�--���-��-1����&��-���-���'11�

�

�

 
7 Ibid��
8 Ibid.�
9 Ibid., �������'�.��
10 Ibid.�
11 Ibid., �������'�.&�$��������
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Framework of disputes arising from the same facts and procedural history of this 

case. 

B' 
1�� ���-�� ��/�&��-� ���� -1��� ����� ��/�-�� -�� �-1��� �22/���-�����  $� -1�� ��6��

�22/����-��������-1����//�"����.���6��-������������'����2��-���/��F 

�'� ���	�������-�5=5=0�-1���22/����-���/�������22/���-�����1�//�������-"��

���������F�9�<�-1������/$�5=5=����������-��2/����1�6���
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&��� /�����6���2� /����-���-����
�/��&�&0������/0�1�/������6�/������&����/�

�/���/$� -�� 1���  ��$�"1�/�� �1��"��� ���-��� ��� 1��� /�2� ������� 1�6� ����

�$��-�����������>��//$�������-�&��6�����G�-1�����&��-��"������2-��������

����E%�������&����%�/�20�"1��1�"���"���/$������6���-��0� ��������-1��

������8�-������-�������2�-��9����-����<G�
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���6�"��#020�-1���22��2���-������-��������-1������-�&��/�-�������:-����2��-�-����������%

��-1���8���2����������-1�����-�����-�����&�1��/��;����"�-1���"�/�������&����2��6�-�����

	=���$�'����-1���-1���1���0�-1���22/����-��� 6�-��-1�-�-1�����2���� �/�-$��������������

-1�-��//��-����6�6 ����"�������-� �/-������-1�-�������%���-�����-������-����6�6 ����

���� -����2��-��� ��� -1�� ���-��� ��-����� &�1��/�� ���-�� "�-1� -1�� ���&��0� ��-� -1�� �-1���

2���������'� (/���/$0� 1�� "��� ��-� -1�� ���&��'� ��� -1��� ������0� -1�������0� -1���� ��� ���
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�-�-�0�����2�-��-��/� ��#/��1���������-����-�����-������-���'23�

?=' ���������� -1�� �22/����-H�� ���-��-���� -1�-� -1�� ��/$� -1���� "1��1� 1���  ����

��-� /��1���"���-1�-��=��"����������-1���8���2�����������-�"������������-� �/-0� -1��

���2�����-��-�-���-1�-�-1��������-����������������'�
1���22/����-�-�-�//$������������1���

21$����/���-����-����"�-1��=�0�����1�����-�&����/������-'������0�-1���/�2��2��#�������-��/�0�

��������-1��2� /��H��������� /������-����-���-'�������-0�-1���22/����-����1�����-��&��"����

	=������5=5=0�"1�����#���-�������� ��-1�� �1�&��������-1���/�20�1��������6���-1�-�:the 

male seemed to be reciprocating or participating;'24�

?�' ���-1��0� -1�� ���2�����-� ����-��� -1�� �22/����-H�� �����-���� -1�-� 1��� 21$����/�

��-����-����"�-1��=����� -1�����-�����-�����&�1��/�������2-�������� -1���/�2������-� ��

��������:��>��//$�������-�&�;'�
1��������-�����/������/�'�
1���22/����-�1�����6�--���-1��

���-���$G� 1�� ��������� -1�-� -1�� ��-�� �1�"�� ��� -1�� �/�2� :6�$�  �� ����-����� ���

���22��2���-�;'�

Considerations �

?5' ���-��-1������-�����-0����-�������/���/$���6���-��-��� $�-1���E%�������&����%�/�2�

���-1���22/����-H�� �1�&����0�"1��10����-1��
�� ���/H��������6��-0��2��#�������-��/�'��

?	' 
1���22/����-�"�����/6������-1�����-�����-�����&�1��/���-�22����-��� -������%

/��1-�� ��� +�)��#��� �-���-� ��� 
�/%�&�&0� 1�/����� ��� 1��� /�2� �� ��6�/�� ����&����/0�

��2��-��/$� �� 2���-�-�-�0� "1�� ������ -1�� �22/����-� ���� �$��-��� ��� 1�60� "1�/�� -1��

�22/����-�1�/��1���"�-1�1���1��������1��� �--��#������"1�/��1��2�//���1�������-�/������
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����0��-������"������2�-���-1�-�-1��2��������2��-������-1��&��������-1���22/����-'�

?C' ������0� -1�� &����� �/�20� -1�� �A��&���/� ����������� 9/�-��� -��  ���6�� ���

���A��&���/� ��6������<� ���� -1�� ����-�����-���� �&������� �/���� "���� ���������-� -��

��-� /��1�-1�����-��9�����/���Antoine�5=5	%���
%�	5E0�2���'�	?<'��

?
' 
1����-����2��-���1�&�����/������>��/������-�-���0����������-� ����62�����"�-1�

-1��(���  ����������0����-1���22/����-�"��/�G�������0��2��-����6�-1�����������-�����

-1�-��-� ����-�/���-��������/�-����$�-1�-�-1�-�/�6 ����9����-1���(���  ���������<����� ��

���������������� $�2�����������2$����-1����6�����-��������1�������������-����-�62/�-��

��-��1-�����2�����-��-����-��-��9-1�-�2�� � /$�/��-�������/���<�����:���-����/�������6��:0�

-������-1��"������� $�-1���22/����-�9��-���������-�������2-0�/����	=B%�
=?0����'��E?�

���-1����&��-���-������2��-<0�-1��
�� ���/�������-1�-��-�"�����-���������"1��1�1�22�����

 �-������-�&�-$������>��/���-����9�/-1���1���-�����>��/���-��-��/�<'��

?D' 
1����-��"�����������2�����&��������>��/� $��//�2��2/��"1����"�-1��&��������

-1��"� �������66��-�������-'�����//$0�-1����>��/���-�������-1����-�&�-$�����/���������6���

 $�Millan 5=5	%���
%�		=0�2���'�
E'�

?E' 
1�����2�����-�������������2�����������>��/���-�&�-$�"�-1�2���-�-�-��0�����//����

���-1������1����-1�-�-1������"�����/6��������2/����#��"�����2���-�-�-������������
�/�

�&�&0�������� -1���-1���1���� -1�-� -1��(��/��� /���-��0� -1��*/� �/�����-��������$�-�6�
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��������6��-�����-1�� �1�&��������2� /����2������������-1�����A����$����-1���#�������

�&��-��-��'�

C=' ����� ��� -1�� 2��-���� A���-������ -1�� �>��-����� ���� &�����-$� ��� -1�� �6��/�0�

�/-1���1�1��41�����-1���1�����-� ��������-������9�����&��/��<0�"1��1�1���-1���&����-���$�

&�/������������6��-'�7����&��0�6��$����-1����-��/�����-1�����-���������������-1���6��/��

1�&�� ����������6��� $�-1����//�"������&��-���-���F�-1��
�� ���/0�-1�������0�������-1�-�

-1���6��/��������/�� /�����-1������//����-��-'�

C�' ��� -1�� ����� �����6�-�����0�7�'�7�//��H�� �-�-�6��-�� -�� ��&��-���-���� -1�-� -"��
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7���������������/���6�������6$�-��$;0����������/��0�����2�
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-��1���2������/�21���'
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���������������������������-��/�-$'30�


C' ���2�-�� -1���� �/���� ��A���-��  $� ����� ���� -1�� �&����-� ������$� ���� -1��

����������� ��&��0� -1�� �22/����-� ���/��� -�� 2��&���� ����� -1�� ������/� �����6�-����
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E' ��� &��"� ��� ��
��H�� ���-��/� -�/�21���� �������0� "1��1� ������6���

��66�����-�����6����-1���22/����-0�7�'�7�//�������7�'�(���//����������-1�����������/�

���-��� ��-����� -�/�21���� ��6 ���0� -1�� ��������� ���/$���� ��� -1�� 6� �/�� 21���� ����

���-�����-��������������7������-1�-�-1���22/����-��� 6�--���-����������	=������5=5=�

�1��/��1�&����-��-����������-�&�-�������-1���22/����-H��6� �/��21���'��� ��A���-/$0�

-1������������ $�����0���2��-������5E���/$�5=5=0�����������������-�&�-$�"1�-���&������

-1��2������ �-"����E��� ����$�5=�B�����	=������5=5=����-1��6� �/��21����-1�-�-1��

�22/����-��� 6�--���-����������	=������5=5='����-1��6���0� -1���������������������

�(/���� ������-� �����6�-���� "1�-���&��� ���� -1�� 6� �/�� 21���� -1�-� -1�� �22/����-�

�� 6�--���-������'33�


B' ���&��"����-1��� �&�0�-1�����2�����-0��� 6�-��-1�-��-����1��1/$�2�� � /��-1�-�-1��

�22/����-� ��-1��� ��6�&��� -1��� �����6�-���� ���6� -1��6� �/�� 21���� 1�� �� 6�--��� -��

��������	=������5=5=����-1�-�1���� 6�--���-�����������������-�6� �/��21�������6�-1�-�

��������5��7�$�5=5=0��������-1�-�1����/�-�����-�����6�1������-�����-��������������7�

����'���-1���"�$0�-1���22/����-���-��������"�-1�-1����&��-���-���'��

D=' ��� ���2����� -�� -1�� �22/����-H�� �����-���� -1�-� -��1����//$� 1�� ���/�� ��-� 1�&��

��/�-��������6�-�������6�-1�����-�����-��������������7�����G�-1�����2�����-��2�����

-1�-�-1���22/����-H�������-�������"����'�
1���22/����-�1�6��/����6�--���-1�-�-1����7�

�����������-�������-������-��-1�-����� ����/�-���9e.g., :customer data, phone number 

and billing information;<����� -1�-� �1��/�� -1�������0�1�&�� ����2�����-� �-�"�����-'�

7����&��0� -1�������-����6���/$���&��-�� �--��-���������������-� �����-� -1�� ��62�//����

�&������� -1�-� -1�� �22/����-� ��-�������� "�-1� -1�� ��&
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Considerations�

D�' 
1��
�� ���/���-���-1�-�-1���22/����-����/���-��2��&���������-1�������6�-����

���������� �=�H�� ����-�-$� ���� ���-��-� ��-��/�� ���� ���� ��-� .��-��$� -1�� ������/� ��-� ��� ��

�������������9"1��1����/����-� ���������-������<�-��2��-��-�-1��2��&��$����-1��2������

��&�/&��'� ��� -1�� .��-�����-���� ��� ��-� 2��2��� 9 ������� ��� ��&��-���-���� ��� ���6�//$�

����������� $��//����-������� ���2��-��-������������-��/�-$<0� -1�� ��//�"�����/-����-�&��

��6����-��2/�$�����-1���22/����-F�-1���22/����-�������-�2��&����-1����6���������-��-�

��-��/������=����62/$� �������1��������-�#��"�-1�6�9�/-1���1�-1����������-��>�����-��

1�6����6�/�� �/�-$0������ ���-�������-����-1�����2��-�����>2/��-�-���������2���-�-�-�<���0�

���1��#��"��-1�60�-1����"�������������-��������/�-1�6'�

D5' ���-�� -1���//�������/�-���������-�� ���6�1�����//�21���0� ���-���0� -1��
�� ���/0�

"1��1� �/����$� ��������� -1�� /���-�6��$� ��� -1�� ���8���� ��� -1�� 21���� 9���� Antoine 
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Respondent’s submissions�

D?' 
1�� ���2�����-� ���-����� -1�-� -1����1� 1��� ������-0� -1�� �22/����-� ��-��� ���

&��/�-��������-��������/�-������'59 <0��'59�<0��'59A<������'59�<0������-������/����'59�<�����

�'59�<'�@�-1�1���-"����-�����6��������-0����1���2���-�/$����"�//����-���-1��0�����-�-�-��

��������6��������-'�

DC' �$�1���������-��1�"����� -1���/�2����� $� ���/����-�����2���-��"�-1� -1�������

��&��-���-���0� -1���22/����-� ���/��0�  $� ���1� ��-� ���� -���-1��0� -�� �21�/�� -1�� 1��1��-�

�-�������� ��� ���������$0� ��62�-����� ���� ��-����-$� ��A������ ������ �-���� ����/�-����

�'59 <0� ����1�� ���/��0�  $� ���1� ��-� ���� -���-1��0� -�� ������-� 1�6��/�� �-� �//� -�6��� ��� ��

6������  ���--���� 1��� �-�-��� ��� ��� ��-����-����/� ��&�/� ���&��-0� ��� &��/�-���� ��� �-����

����/�-�����'59�<'��

D
' �$�1���������-��1�"����� -1���/�2� ��������-�����-�����&�1��/�0� -1���22/����-�

���/���-������-1��2��2��-$����-1��������8�-�����'�'0�-1�����-�����-�����&�1��/�0���/$�����

�������/�2��2������������/���-���>�������������� /�������"1����-�/�8����-1�-�2��2��-$0�

-1���22/����-���-������&��/�-��������-��������/�-�����'59A<'��

DD' �$����/����-�����2���-��"�-1�-1���������&��-���-���0����2��-���/���1���������/�-��

����-��$��=�0� -1���22/����-� ���/��� -�� ���2���� ��//$� -�� ��A���-�� ���� �����6�-���� ���6�

�������/����-1���8���-����&��-���-��-1��2���� /��6��������������0�"��-������ ���0����-1��

���-��-� ����0� -1�� ���-��� ��-����� &�1��/�� ���-����� ��� -1�� �/�20� ��� &��/�-���� ��� �-����

����/�-�����'59�<'�

DE' �$� ���/���� -�� ���2���-�� ���� ��-��������� "�-1� -1�� ����� ��&��-���-���0� -1��

�22/����-���-������&��/�-��������-������/���'59�<'����-1��0� $����/����-�����2���-������

��-���������"�-1�-1���������&��-���-���0�-1���22/����-������2-�������-1��"������-��������

"�-1� ��� �������/� ��-�&�-$� ��� -1�� ������8�-���0� ���/������ -1�� ������8�-���H�� �������/�

��-�&�-$� ���������-����"�-1� -1����6����-��-������� .��-�����$�-�60� ���&��/�-��������-����

��/���'59�<'��

DB' ���/��1-����-1��� �&�0�-1�����2�����-��� 6�-��-1�-�-1���22/����-H��������-0����

���1����-����0�����-�-�-���6��������-�������(1�2-���M����-1���-������/��0�"1��10����1�
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���2���/$�2����&�'�

ED' 
1��� /���-�������-� ��� -1���-��������/�-�����������/��� -�����2���-��"�-1� -1��

��&��-���-���0����"���A���-����0�2��&��������6��-��$��&����������1��41���2����������

���"1��1��1��/��������� /$� ���>2��-���-�� �����1��41���2���������������-� ���22/����

-�� -1�� �� .��-�� ��� -1�� ��&��-���-���0�  ����� �22/��� /�� ��/$� -�� �-1��� �-���� 6�6 ���'�

������0�"1�/�� �� 2���/$�2����&�� �1�&����� ���� �� ��� �>2����������� -1�� ���1-� ��� ��/�%

�������0�����-�������-1������� �1�&�����"��/��6����-1�-��&��$�6��������-�"��/�� ��

2����1���-"���0�������//�"����-1��2��1� �-�������-1��6�-����/�������-0��������������

-�6����62/$� ��������-����-1���������-���������-1��6��������-�-��-1����&��-���-�������
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Whether there were any due process violations in the investigation and the 

disciplinary process leading up to the disciplinary sanction against the Applicant.�

Applicant’s submissions�

B	' 
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2������/� ��//� 21���� ��� &��/�-���� ��� �
4�*�45==?4�C� 9���� ��� �����6�-���� ����

��66�����-���� -��1��/��$� ���������� ���� ��-�<� ���� -1�� ����� 2��-���/� C %���
%

=?5=�C����� �(
���-���&�/�'38�
1���22/����-�6���-����� -1�-�7�'���.#�6�����/�"��//$�

2��-���2�-������-1����&��-���-���� �������1��"�����-����������-���'�������10�1��"�����-�

��-1�������-�����8�������6�-���0���66�����-��������-��1��/��$�9:�(
;<����������0�����

���� 1��"��#�"�-1� -1�� �����-����� ��� ��� ��-1������� �(
� �������'� 
1��� ��-� �2�������//$�

&��/�-���2������21��D������?����-1������H���"����-���&�/�2��-���/�6�#����-1�����8����

���1���21������/�"��/'39�

BD' 
1�� �22/����-� ���-1��� �� 6�-�� -1�-�7�'� ��.#�6��� 1��� �� �������� ����/��-� ���

��-����-������1��/����&���1�&�� �����//�"���-����-���������&��-���-������-1�������'���-�

��/$�"���7�'���.#�6����������-����-1����6����-��-��������-1�������0���-����-����������

����2�����-� ��$0� �-�1��#��"�-1���22/����-0�"�����������"�-1�1�6�������� ��#�����

"��#���"�-1�1�6'�+��"�����������������������������-$������������
� �����0������/0�"1�/��

-1���22/����-�"�����6����-��-�&��������������-1��7������'�
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Violation of the Applicant’s presumption of innocence.�

�=5' 
1���22/����-����#��-���1�//�����-1������� �/�-$����
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���' 
1�� 
�� ���/� ��-��� -1�-� -1�� ��6�� ������� "���� �������  $� -1�� �22/����-� ��� ��

2��&�����2�������������-1����6���&��-�0�����-1�-�-1��
�� ���/�������-1�6����������'54�

��5' ���
��-�-���-1�-�-1�-���2��-$0����������-�� �����������/�����22��/0���-���/$�1���

-�������-������1�"�-1�-�-1�����2�-��
�� ���/���66�--���������������2��������� �-��/���

-1�-�-1��������������-���-1��������������-1�������9Millan�5=5	%���
%�		=0�2���'�E	G�����

�/���Nimer�5=�E%���
%EDB0�2���'�		0���-����Nadeau�5=�D%���
%D		4(���'�0�2���'�

	�<'�

��	' ��� ��$� ����0� �&��� ����6���� -1�-� -1�� ������/���-���� ��62/������ ���  $� -1��

�22/����-���������0�-1�$�������/�-���-���������2��-�����-1��2�����������"1��1���-�������

������"�$�"�-1�-1���&������0������-��//$�����/-�������6�-1��&���������-1��(��/����$�-�60�

����-1�$���������/�&��-�-��-1����-��6�����-1����&��-���-���������"�-1�������/���������

-1��������6��-����-1�����-���������-1���������������9������/��-���� �&�����2���'�B5<'�

��?' ��� -1�� ����0� -1�� �22/����-� ���/��� -�� ��6���-��-�� ��� "1�-� "�$� -1�� �//�����

&��/�-��������1�������2����������1-��2��.�������1�6�"�-1���-1�����-�>-����-1�����������

�62��-���-1����-��6�����1�������'�

Whether the sanction is proportionate to the gravity of the offence�

Applicant’s submissions�

��C' 
1���22/����-����-�����1��"���"������//$����6������ ���������� �����0��/�"���

���� &�����-�&�� ��&��-���-���� ��������� ���6� -1�� ��-��-� -�� ����� 1�6� ���/-$�"1���� -1��

2����62-�����������������"�����-����2��-��'�
1��"���-�����-�������/��1�&�� �������

��6����-��-�&��6������� ����  ����� ��� �����-�����-�����&�1��/��"�-1� �������-1���8���

2�������������/�������1������&����2��6�-�����	=���$�'�
1���22/����-��� 6�-��-1�-�1��1���

 ������1����"��#�������������/-������-�����"�-1���-�-�������2�����6�����������/����-�6��

���� -1�������-����"������2��2��-����-������2���-�&����62/$� ���������� -1��2� /���-$�

�������-���"�-1�-1�������'��

 
54 Antoine����
45=5�4�C�' 
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��
' 
1���22/����-����-1����� 6�-��-1�-�-1�������2/����$�2�������1���1�����-�//����1���

1��/-1����6�-1���-��-0�/����/$�����-��-1���>-����&��6�������6�-�������-1��2� /�����6���0�

���/���������6�-1��������8�-���'������22��-����-1����&��6��-0�1���� 6�-��-"������6��-��

ex parteG�6�����/���2��-����-��������-�5=5=55
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/�������&�������6���������--����0���2���-�������6����&���0�"�-1���62����-����in lieu����

��-��������"�-1�-��6���-��������6��-$0�"����22/�������-1�������2/����$�����-���'�

�5C' ��-�-1��2�����-�����������������-�����-1��������/�����&������-1��2� /����2�����0�

���-1���22/����-��&���'������ -��/$�-1������-����6�-�����-�-��-1���22/����-�"������&���

 $� -1��2� /���-$0�  �-� -1��� 2� /���-$�"��� �������-� �����-� ��� -1���22/����-H��  �1�&�����

�-��/�0�����-1�������0�1���-�� ����������������-1��������6��-����-1�����&�-$����-1�����-�'�

�5
' 
1�� 
�� ���/� �����-0� -1�������0� ���� -1�-� -1�� �>������� ��� -1�� ���2�����-H��

������-�����$�2�"������-1���1��������-1�������2/����$
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����-�������.��-������ $�-1�����-�-1�-�1�����/�����-1���&��-��"��������6��-�//$���������-G�

-1�����-�����-�����&�1��/��"�����-� ��������� -��1�6����� ���1��� �����"1����=��"���

�//�"���-��-��&�/�����-0�����7�'�(���//����-�����-���-�2�-1���&��-�������22��2���-�0�"1�/��

-1���22/����-�"��0������62/$�2�-� $�-1�����2�����-0�-1��6������-������-1��������0����

�/���/$��1�"�����-1��&����%�/�2'���

�	5' ����//$0�-1��
�� ���/���-���-1�-�-1���22/����-��/��6����������6��$������� -"��

1����������6���F�9�<'�:��6����-��1����������������/�%���2��-0;�"1��10�����������-��1�60�

:�-��-��� "�-1� -1�� �����6�-���� 2�-� ��� -1�� 2� /��� ��6����  $� -1�� 2����� -��6� ��� -1��

������8�-���� �-� &������� �-����� ��� -1�� ��&��-���-����� �2� -�� -1�� ����-���� /�--��;�

9:�� /���-���� ��6���;<G� ���� 9��<� ��6���� ���� -��  ����� :�1��#��0� ���6�$��� ����

��2������� ������ -1�� ����� ��� ���-����"�-1��-� �62/�$6��-� �������� -�� �>2/���� -�� 1���

��6�/$�������������-1�-�1�������"������������ $�-1�����-�����-�����-�� ������&���-';�


1�����6���0�����������-��-1���22/����-0�����/-������6� �����:��-������-��-1�����-���

�-�-�������6�����;�9:���6����/���6���;<'�

�		' 
1������-��/��6�����//%�������'�������0������������-1���//��������6����/���6���0�

-1�����-��-������������"���/�"��/�����-1�������� -1�� �����������6������ ��� -1�-��������

�������-������'��

�	?' ��� �������� -1�� ������� �/��60� ��/�-��� -��2� /���-���� ��6���0� �2��-� ���6� ��$�

���������-����-1�-�-1��2�������/��������-�����������6��0�-1�-��-��������/�&��-�-1�-���6���

�22�������/��"1���� $����%�������/���������"1���������-�������-� ���--�� �-���-��-1��

������8�-����9�����/�����������'��D?�9���45=5=<0�����Antoine ���
45=5�4�C�0� �-1�

inter partes<0� -1�� 
�� ���/� � ���&��� -1�-� -1�� ������8�-���� ���� ��-� &��/�-�� -1��

��������-��/�-$����-1����&��-���-���������&��������2� /���-$�-��-1������0� ��������-����

��//���-����-����2����-�������-� /��2���-�������-1���&��-�'��

�	C' �����$�����0� -1���/��6���� ����6���� /�� ������� -1���22/����-�1�����-������-/$�

�1�//������ ��� -1����2�������������$���-���� -1���2�#��2���������� -1�����-�����-�����

�����-��$%*�����/�9��/�/$�����//�����-���������//�����&��/�-�������-1������2����������-1��

�����2/����$�2������<'��
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�	
' �������/�����0����-1��
�� ���/��������-��������/�"��/�-1�������2/����$�����-����

�1����������22/���� $�-1��������8�-���0�-1���22/���-����������6����������-����-���-$'�

Conclusion�

�	D' ���/��1-����-1�����������0�-1���22/���-�������/�'�

�

(Signed) 

����������������������

��-���-1���5�st���$���������5=5	�

�

�

�

��-��������-1�������-������-1���5�st���$���������5=5	�

�

(Signed) 

�����7�/�0�����/��������0�����

� ����!"�#$�%���#�0������-���0������ ��

�


